
372

PA
RT

NU
M
BE
R

CR
OS
S

RE
FE
RE
NC
E
SM
A
LL

EN
G
IN
E
M
O
TO
R

CY
CL
E
EU
RO
PE

&
 U
SA

JA
PA
N
VI
ET
NA
M
TH
AI
LA
ND
TA
IW
A
N
SIN
GA
PO
RE

SA
UD
IAR

AB
IA
PH
ILI
PP
IN
ES
M
AL
AY
SIA
K
O
R
EA

IN
DO
NE
SIA

IN
D
IA

CH
IN
A

AU
ST
RA
LIA

DIA.xREACH Hex PLUG PART NUMBER NUT Gap
M14x19, 16Hex K16TT 267700-7431 S 1.0

M14x19, 16Hex K20TT 267700-7441 S 1.0

M12x26.5, 16Hex KH16TT 267700-7451 S 1.0

M12x26.5, 16Hex KH20TT 267700-7460 S 1.0

M14x19, 16Hex Q16TT 267700-7471 S 1.0

M14x19, 16Hex Q20TT 267700-7481 S 1.0

M14x19, 20.6Hex W16TT 267700-6301 RC 0.8

M14x19, 20.6Hex W20TT 267700-6311 RC 0.8

M14x19, 20.6Hex W22TT 267700-7510 RC 0.8

M14x12.7, 20.6Hex WF20TT 267700-7500 RC 0.8

M12x19, 16Hex XU22TT 267700-7080 S 0.8

M12x26.5, 16Hex XUH22TT 267700-7090 S 0.8

M12x26.5, 16Hex XUH20TTI 267700-8290 S 0.8

M14x17.5, 16Hex,Taper seat T16TT 267700-7820 S 1.0

M14x17.5, 16Hex,Taper seat T20TT 267700-7830 S 1.0

M14x25, 16Hex,Taper seat TV16TT 267700-7490 S 1.0

STANDARD,RESISTOR PLUG CHART
DIA.xREACH

Hex
STANDARD PLUG RESISTOR PLUG (φ0.4mm) / (φ0.4mm) (φ0.4mm)

PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT
M14x19 K16P-U 067600-0380 S K16PR-U 067700-6300 S IK16 067700-8680 RC VK16 267700-0710 RC

16HEX K16PR-U 067700-7500 R IK16 067700-8680 RC VK16 267700-0710 RC

1.5mmPROJECTION K20P-U 067600-0390 S K20PR-U 067700-6310 S IK20 067700-8690 RC VK20 267700-0720 RC

K20PR-U(For LPG) 067700-6310 S VK20T 067700-9540 S

K20PR-U 067700-7510 R IK20 067700-8690 RC VK20 267700-0720 RC

K20PR-U8S 267700-6290 S IK20G 267700-5620 S VK20G 267700-5640 S

K20PR-U9S(SUS Gasket) 267700-4390 S IK20G 267700-5620 S VK20G 267700-5640 S

K20PR-SU9(Semi Surface) 267700-0960 S IK20 067700-8690 RC VK20 267700-0720 RC

K22PR-U 067700-7520 R IK22 067700-8430 RC VK22 267700-0730 RC

IK24 067700-8460 RC IK01-24 267700-1310 S

IK02-24 267700-1360 S

IK27 067700-8470 RC IK01-27 267700-1320 S

IK02-27 267700-1370 S

IK31 067700-9220 RC IK01-31 267700-1330 S

IK02-31 267700-1380 S

IK34 067700-9590 RC IK01-34 267700-1340 S

K16PR-UR 267700-5230 S IK16 067700-8680 RC VK16 267700-0710 RC

K20PR-UR 267700-5240 S IK20 067700-8690 RC VK20 267700-0720 RC

K22PR-UR 267700-5250 S IK22 067700-8430 RC VK22 267700-0730 RC

K16P-U11 067600-0350 S K16PR-U11 067700-6270 S IK16 067700-8680 RC VK16 267700-0710 RC

K16PR-U11(For LPG) 067600-6270 S VK20T 067700-9540 S

K20PR-U11 067700-6280 S IK20 067700-8690 RC VK20 267700-0720 RC

K20PR-U11 067700-0420 S IK20 067700-8690 RC VK20 267700-0720 RC

K22PR-U11 067700-6290 S IK22 067700-8430 RC VK22 267700-0730 RC

K24PR-U11 067700-8740 S IK24 067700-8460 RC IK01-24 267700-1310 S

IK02-24 267700-1360 S

K16PR-L11 067700-6550 S IK16 067700-8680 RC VK16 267700-0710 RC

K20PR-L11 067700-6560 S IK20 067700-8690 RC VK20 267700-0720 RC

K22PR-L11 067700-6570 S IK22 067700-8430 RC VK22 267700-0730 RC

M14x19 K16-U 067600-0740 S K16R-U 067700-6400 S IK16 067700-8680 RC VK16 267700-0710 RC

16HEX K16R-U(For LPG) 067700-6400 S VK20T 067700-9540 S

2.5mmPROJECTION K16R-U 067700-7660 S IK16 067700-8680 RC VK16 267700-0710 RC

K16-U11 067600-0750 S K16R-U11 067700-6420 S IK16 067700-8680 RC VK16 267700-0710 RC

K20-U 067600-0760 S K20R-U 067700-6410 S IK20 067700-8690 RC VK20 267700-0720 RC

K20-U11 067600-0770 S K20R-U11 067700-6430 S IK20 067700-8690 RC VK20 267700-0720 RC

M14x19 KJ14CR11 067700-6730 S IK16 067700-8680 RC VK16 267700-0710 RC

16HEX KJ14CR-L11 067700-7450 S IK16 067700-8680 RC VK16 267700-0710 RC

2.5mmPROJECTION KJ16CR 067700-7410 S IK16 067700-8680 RC VK16 267700-0710 RC

EXTENDED KJ16CR11 067700-6770 S IK16 067700-8680 RC VK16 267700-0710 RC

KJ16CR11(For LPG) 067700-6770 S VK20T 067700-9540 S

KJ16CR-L11 067700-6940 S IK16 067700-8680 RC VK16 267700-0710 RC

KJ16CR-U11(*) 067700-8810 S IK16 067700-8680 RC VK16 267700-0710 RC

KJ20CR11 067700-6780 S IK20 067700-8690 RC VK20 267700-0720 RC

KJ20CR-L11 067700-6950 S IK20 067700-8690 RC VK20 267700-0720 RC

KJ20CR-U11 067700-7780 S IK20 067700-8690 RC VK20 267700-0720 RC

KJ20CR-U11(*) 067700-0570 S IK20 067700-8690 RC VK20 267700-0720 RC

KJ22CR-L11 067700-6960 S IK22 067700-8430 RC VK22 267700-0730 RC

KJ22CR-L8 067700-8240 S IK22 067700-8430 RC VK22 267700-0730 RC

M14x20.5 KJ20DR-M11 267700-0550 S IK20 067700-8690 RC VK20 267700-0720 RC

16HEX,SHROUD

M14x22.5 K16GPR-U11 067700-0540 S

16HEX,SHROUD

M14x19 ･K16TNR-S9 067700-9770 S IK16 067700-8680 RC VK16 267700-0710 RC

16HEX K16TR11 067700-7900 S IK16 067700-8680 RC VK16 267700-0710 RC

2ELECTRODE ･K20PTR-S 067700-9760 S IK20 067700-8690 RC VK20 267700-0720 RC

2ELECTRODE,SHROUD,Semi-Surface(-S) K20TNR 067700-8770 S IK20 067700-8690 RC VK20 267700-0720 RC

･K20TNR-S 067700-8000 S IK20 067700-8690 RC VK20 267700-0720 RC

･K20TNR-S9 067700-8800 S IK20 067700-8690 RC VK20 267700-0720 RC

K20TR11 067700-8110 S IK20 067700-8690 RC VK20 267700-0720 RC

K20TXR 067700-8080 R IK20 067700-8690 RC VK20 267700-0720 RC

K22TM11 067600-1130 S K22TMR11 067700-0510 S IK22 067700-8430 RC VK22 267700-0730 RC

K22TNR-S 067700-7910 S IK22 067700-8430 RC VK22 267700-0730 RC

M14x20.5x16HEX K16DTR-S11 067700-7330 S

SHROUD, 2ELECTRODE,SHROUD,Semi-Surface K20DTR-S11 067700-7230 S

CHART

S: SOLID; R: REMOVABLE; RC: CRIMPED; T: THREAD



373

AUSTRALIA
CH
IN
A
IN
D
IA

INDONESIA
K
O
R
EA

M
ALAYSIA

PHILIPPINES
SAUDIARABIA

SINGAPORE
TA
IW
A
N
THAILAND

VIETNAM
JA
PA
N
EU
RO
PE

&
 U
SA

M
O
TO
R

CY
CLE

SM
A
LL

EN
G
IN
E

CROSS
REFERENCE

PART
NUM

BER
DIA.xREACH

Hex
STANDARD PLUG RESISTOR PLUG (φ0.4mm) / (φ0.4mm) (φ0.4mm)

PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT
M14x19 K20BR-S10 067700-9750 S IK20 067700-8690 RC VK20 267700-0720 RC

16HEX K20PBR 067700-8050 R IK20 067700-8690 RC VK20 267700-0720 RC

3ELECTRODE K20PBR-S 10 067700-8060 R IK20 067700-8690 RC VK20 267700-0720 RC

3ELECTRODE,SEMI=SURFACE(-S) K22PB 067600-2770 R K22PBR-S 067700-8070 R IK22 067700-8430 RC VK22 267700-0730 RC

M14x19 Q16PR-U 067700-6000 S IQ16 067700-8700 RC VQ16 267700-0740 RC

16HEX Q16PR-U 067700-4450 R IQ16 067700-8700 RC VQ16 267700-0740 RC

1.5mmPROJECTION Q20PR-U 067700-6060 S IQ20 067700-8710 RC VQ20 267700-0750 RC

Q20P-U 067600-7680 R Q20PR-U 067700-4460 R IQ20 067700-8710 RC VQ20 267700-0750 RC

Q22P-U 067600-7690 R Q22PR-U 067700-4470 R IQ22 067700-8480 RC VQ22 RC

IQ24 067700-8490 RC IQ01-24 267700-1410 S

IQ02-24 267700-1460 S

IQ27 067700-8501 RC IQ01-27 267700-1420 S

IQ02-27 267700-1470 S

IQ31 067700-9230 RC IQ01-31 267700-1430 S

IQ02-31 267700-1480 S

IQ34 067700-9600 RC IQ01-34 267700-1440 S

Q16P-U11 067600-7800 S Q16PR-U11 067700-6050 S IQ16 067700-8700 RC VQ16 267700-0740 RC

Q16P-U11 067600-7200 R Q16PR-U11 067700-4510 R IQ16 067700-8700 RC VQ16 267700-0740 RC

M14x19 Q16PR-U15 067700-4660 R IQ16 067700-8700 RC VQ16 267700-0740 RC

16HEX Q20P-U11 067600-7810 S Q20PR-U11 067700-6070 S IQ20 067700-8710 RC VQ20 267700-0750 RC

1.5mmPROJECTION Q20P-U11 067600-7300 R Q20PR-U11 067700-4520 R IQ20 067700-8710 RC VQ20 267700-0750 RC

Q22PR-U11 067700-6090 S IQ22 067700-8480 RC VQ22 267700-0760 RC

Q22PR-U11 067700-4530 R IQ22 067700-8480 RC VQ22 267700-0760 RC

M14x19 Q14R-U11 067700-4670 S IQ16 067700-8700 RC VQ16 267700-0740 RC

16HEX Q16-U 067600-0700 S Q16R-U 067700-4410 S IQ16 067700-8700 RC VQ16 267700-0740 RC

2.5mmPROJECTION Q16-U11 067600-7071 S Q16R-U11 067700-4431 S IQ16 067700-8700 RC VQ16 267700-0740 RC

Q20-U 067600-0720 S Q20R-U 067700-4421 S IQ20 067700-8710 RC VQ20 267700-0750 RC

Q20-U11 067600-7081 S Q20R-U11 067700-4441 S IQ20 067700-8710 RC VQ20 267700-0750 RC

M14x19 QJ16AR-U 067700-5920 S

16HEX QJ16AR-U11 067700-5930 S

2.5mmPROJECTION QJ14C11 067600-7100 S

EXTENDED QJ16CR11 067700-6230 S IQ16 067700-8700 RC VQ16 267700-0740 RC

QJ20CR11 067700-6100 S IQ20 067700-8710 RC VQ20 267700-0750 RC

QJ16HR-U9 067700-5910 R

M14x19 QL20PR-U 067700-7290 S

16HEX QL20TR-S 067700-7260 S

QL LONG QL22TR-S 067700-7270 S

M14x26.5 K16HPR-U11 067700-3020 S IKH16 267700-3660 RC VKH16 267700-3680 RC

16HEX K16HR-U11 267700-6280 S IKH16 267700-3660 RC VKH16 267700-3680 RC

K20HR-U11 267700-2880 S IKH20 267700-3670 RC VKH20 267700-3690 RC

IKH22 267700-2650 RC VKH22 267700-2680 RC

IKH24 267700-4280 RC IKH01-24 267700-4450 S

IKH27 267700-4290 RC IKH01-27 267700-4460 S

IKH01-31 267700-4470 S

M14x12.7 W14F-U 067600-6681 S

20.6HEX W14F-U 067600-6821 R W14FR-U 067700-3330 R

NON-PROJECTION W16FS-U 067600-6831 R W16FSR 067700-0831 R

W20FS 067600-3231 R W20FSR 067700-0841 R IWF22 067700-9410 R

W20FS-U 067600-6841 R W20FSR-U 067700-3341 R IWF22 067700-9410 R

W22FS-U 067600-6851 R W22FSR 067700-0851 R IWF22 067700-9410 R

W22FS-U10 267700-4710 R IWF22 067700-9410 R

TR22-10 067600-9270 R IWF22 067700-9410 R

W24FS-U 067600-6861 R W24FSR 067700-0861 R IWF24 067700-9420 R

W24FS-U10 067600-6671 R W24FSR-U10 067700-8170 R IWF24 067700-9420 R

W27FS-U 067600-6871 R W27FSR 067700-0871 R IWF27 067700-9430 R

W27FS-U10 067600-6191 R W27FSR-U10 067700-0891 R IWF27 067700-9430 R

W31FS 067600-2571 R

M14x12.7 W9FP 067600-1612 R

20.6HEX W20FP 067600-1651 R W20FPR 067700-3941 R IWF20 267700-5010 R

1.5mmPROJECTION W22FPR 067700-1851 R IWF22 067700-9410 R

W24FPR 067700-4000 R IWF24 067700-9420 R

W14FP-U 067600-6121 R W14FPR-U 067700-4760 R IWF16 267700-5000 R

W16FP-U 067600-6131 R W16FPR-U 067700-4700 R IWF16 267700-5000 R

W20FP-U 067600-6141 R W20FPR-U 067700-3831 R IWF20 267700-5010 R

W22FP-U 067600-6151 R W22FPR-U 067700-3841 R IWF22 067700-9410 R

W24FP-U 067600-6281 R IWF24 067700-9420 R

W16FP-U10 067600-6161 S IWF16 267700-5000 R

W20FP-U10 067600-6201 R W20FPR-U10 067700-3081 T IWF20 267700-5010 R

W24FPR-U10 067700-8820 R IWF24 067700-9420 R

M14x12.7 W9FP-UL 067600-6601 R

20.6HEX W14FP-L 067600-6522 R IWF16 267700-5000

3.5mmPROJECTION W14FP-UL 067600-6591 R W14FPR-UL 067700-1881 R IWF16 267700-5000 R

W14FP-UL10 067600-6611 R W14FPR-UL10 067700-1871 R IWF16 267700-5000 R

W20FP-L 067600-8960 T IWF20 267700-5010 R

M14x12.7 W20FP-U 067600-8870 R IWF20 267700-5010 R

20.6HEX W20FP-U10 067600-8890 R IWF20 267700-5010 R

W22FP-U 067600-8880 R IWF22 067700-9410 R

W22FP-U10 067600-8900 R IWF22 067700-9410 R

M14x12.7 W14FR-L 067700-6800 T IWF16 267700-5000 R

20.6HEX W20FR-L 067700-6810 T IWF20 267700-5010 R

RETRACTED PROJECTION W20FR-L9 267700-2080 T IWF20 267700-5010 R

W24FR-L 067700-6820 T IWF24 067700-9420 R

M14x19 W24EMR-C 067700-7190 S IWM24 267700-2890 S

20.6HEX W27EMR-C 067700-5500 S IWM27 267700-2900 S IWM01-29 267700-1210 S

COMPACT IWM31 267700-2910 S IWM01-31 267700-1220 S

IWM01-32 267700-1230 S

IWM01-34 267700-1240 S

STANDARD,RESISTOR PLUG CHART

S: SOLID; R: REMOVABLE; RC: CRIMPED; T: THREAD



374

PA
RT

NU
M
BE
R

CR
OS
S

RE
FE
RE
NC
E
SM
A
LL

EN
G
IN
E
M
O
TO
R

CY
CL
E
EU
RO
PE

&
 U
SA

JA
PA
N
VI
ET
NA
M
TH
AI
LA
ND
TA
IW
A
N
SIN
GA
PO
RE

SA
UD
IAR

AB
IA
PH
ILI
PP
IN
ES
M
AL
AY
SIA
K
O
R
EA

IN
DO
NE
SIA

IN
D
IA

CH
IN
A

AU
ST
RA
LIA

DIA.xREACH
Hex

STANDARD PLUG RESISTOR PLUG (φ0.4mm) / (φ0.4mm) (φ0.4mm)

PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT
M14x19 W22ESR 067700-0352 R

20.6HEX W24ESR 067700-5180 S IW24 067700-8890 RC IW01-24 267700-1110 RC

NON-PROJECTION W27ESR 067700-5190 S IW27 067700-8900 RC IW01-27 267700-1120 RC

W14E 067600-0881 R

W16ES-U 067600-6031 R W16ESR-U 067700-2330 R

W20ES-U 067600-6041 R W20ESR-U 067700-2341 R

W22ES-U 067600-6051 R W22ESR-U 067700-2351 R

W24ES-U 067600-6061 R W24ESR-U 067700-2361 R IW24 067700-8890 RC IW01-24 267700-1110 RC

W27ES-U 067600-6071 R W27ESR-U 067700-2371 R IW27 067700-8900 RC IW01-27 267700-1120 RC

IW29 067700-8910 RC IW01-29 267700-1130 RC

W31ES-U 067600-6081 R W31ESR-U 067700-6500 R IW31 067700-8920 RC IW01-31 267700-1140 RC

M14x19 W24ES-V 067600-7131 R W24ESR-V 067700-1921 S IW24 067700-8890 RC IW01-24 267700-1110 RC

20.6HEX W27ES-V 067600-7141 R W27ESR-V 067700-1931 S IW27 067700-8900 RC IW01-27 267700-1120 RC

M14x19 W9EP 067600-1713 S

20.6HEX W9EP 067600-0871 R

1.5mmPROJECTION W16EPR 067700-0161 R IW16 067700-8650 RC VW16 267700-0770 RC

W16EP 067600-1761 S W16EPR 067700-0131 S IW16 067700-8650 RC VW16 267700-0770 RC

W16EPR 067700-0180 S IW16 067700-8650 RC VW16 267700-0770 RC

W20EP 067600-1773 S IW20 067700-8660 RC VW20 267700-0780 RC

W20EPR 067700-0261 R IW20 067700-8660 RC VW20 267700-0780 RC

W22EP 067600-1792 S IW22 067700-8670 RC VW22 267700-0790 RC

W22EP 067600-1281 R W22EPR 067700-0271 R IW22 067700-8670 RC VW22 267700-0790 RC

W24EP 067600-1752 R W24EPR 067700-0211 R IW24 067700-8890 RC IW01-24 267700-1110 RC

W14EP-U 067600-7221 R W14EPR-U 067700-2651 R IW16 067700-8650 RC VW16 267700-0770 RC

M14x19 W16EP-U 067600-7231 R W16EPR-U 067700-2661 R IW16 067700-8650 RC VW16 267700-0770 RC

20.6HEX W16EPR-U 067700-5960 S IW16 067700-8650 RC VW16 267700-0770 RC

1.5mmPROJECTION ･W16EPR-U 267700-4570 T IW16 067700-8650 RC VW16 267700-0770 RC

M14x19 W20EP-U 067600-7241 R W20EPR-U 067700-2671 R IW20 067700-8660 RC VW20 267700-0780 RC

20.6HEX W20EP-U 067600-7311 S W20EPR-U 067700-3440 S IW20 067700-8660 RC VW20 267700-0780 RC

1.5mmPROJECTION W22EP-U 067600-7251 R W22EPR-U 067700-2681 R IW22 067700-8670 RC VW22 267700-0790 RC

W22EPR-U 067700-3450 S IW22 067700-8670 RC VW22 267700-0790 RC

W24EP-U 067600-7261 R W24EPR-U 067700-2691 R IW24 067700-8890 RC IW01-24 267700-1110 RC

W16EP11 067600-6431 S W16EPR11 067700-2620 S IW16 067700-8650 RC VW16 267700-0770 RC

W20EP11 067600-6441 S W20EPR11 067700-6150 S IW20 067700-8660 RC VW20 267700-0780 RC

W20EP11(For LPG) 067600-6441 S VW20T 067700-9240 S

W22EPR11 067700-6160 S IW22 067700-8670 RC VW22 267700-0790 RC

W16EPR-U10 067700-2631 S IW16 067700-8650 RC VW16 267700-0770 RC

W20EPR-U10 067700-2641 S IW20 067700-8660 RC VW20 267700-0780 RC

W16EP-U11 067600-7621 S W16EPR-U11 067700-2710 S IW16 067700-8650 RC VW16 267700-0770 RC

W20EP-U11 067600-7660 S W20EPR-U11 067700-2701 S IW20 067700-8660 RC VW20 267700-0780 RC

W22EP-U11 067600-7670 S W22EPR-U11 067700-2720 S IW22 067700-8670 RC VW22 267700-0790 RC

M14x19 W20EP-S11 067600-6701 S W20EPR-S11 067700-2591 S IW20 067700-8660 RC VW20 267700-0780 RC

20.6HEX,SEMI=SURFACE W22EP-S11 067600-6691 S IW22 067700-8670 RC VW22 267700-0790 RC

M14x19 W9EX-U 067600-4641 S W9EXR-U 067700-1511 S

20.6HEX W9EXR-U/Copper Gasket 067700-7240 S

2.5mmPROJECTION W14EX-U 067600-4663 S W14EXR-U 067700-1522 S IW16 067700-8650 RC VW16 267700-0770 RC

W14EX-U 067600-6372 R W14EXR-U 067700-7890 S IW16 067700-8650 RC VW16 267700-0770 RC

W14EXR-U 067700-2281 S IW16 067700-8650 RC VW16 267700-0770 RC

W16EX-U 067600-4671 S W16EXR-U 067700-1531 S IW16 067700-8650 RC VW16 267700-0770 RC

W16EX-U 067600-2210 S W16EXR-U 067700-2291 S IW16 067700-8650 RC VW16 267700-0770 RC

W16EX-U 067600-6381 R W16EXR-U 067700-1571 R IW16 067700-8650 RC VW16 267700-0770 RC

W20EX-U 067600-4681 S W20EXR-U 067700-1541 S IW20 067700-8660 RC VW20 267700-0780 RC

W20EX-U(For LPG) 067600-4681 S W20EXR-U(For LPG) 067700-1541 S VW20T 067700-9240 S

W20EX-U 067600-6391 R W20EXR-U 067700-1581 R IW20 067700-8660 RC VW20 267700-0780 RC

W14EX-U11 067600-6322 S W14EXR-U11 067700-2421 S IW16 067700-8650 RC VW16 267700-0770 RC

W16EX-U11 067600-6331 S W16EXR-U11 067700-2431 S IW16 067700-8650 RC VW16 267700-0770 RC

W16EX-U11 067600-6481 R W16EXR-U11 067700-2470 R IW16 067700-8650 RC VW16 267700-0770 RC

W16EXR-U11 067700-2501 S IW16 067700-8650 RC VW16 267700-0770 RC

W20EX-U11 067600-6491 R W20EXR-U11 067700-2481 R IW20 067700-8660 RC VW20 267700-0780 RC

W20EX-U11 067600-6341 S W20EXR-U11 067700-2441 S IW20 067700-8660 RC VW20 267700-0780 RC

W20EXR-U11(For LPG) 067700-2441 S VW20T 067700-9240 S

W14EXR-U13 067700-6930 S IW16 067700-8650 RC VW16 267700-0770 RC

W16EX-U13 067600-2051 S W16EXR-U13 067700-6450 S IW16 067700-8650 RC VW16 267700-0770 RC

W20EX-U13 067600-2061 S W20EXR-U13 067700-6590 S IW20 067700-8660 RC VW20 267700-0780 RC

M14x19x20.6HEX LP20-U 067600-4182 S LP20R-U 067700-0442 S VW20T 067700-9240 S

For LPG

M14x19 W14EKR-S11 067700-2100 S

20.6HEX W16EKR-S11 067700-7750 S IW16 067700-8650 RC VW16 267700-0770 RC

SEMI=SURFACE W16EKR-S11 067700-2110 S IW16 067700-8650 RC VW16 267700-0770 RC

W20EKR-S11 067700-7760 S IW20 067700-8660 RC VW20 267700-0780 RC

W20EKR-S11 067700-2200 S IW20 067700-8660 RC VW20 267700-0780 RC

W22EKR-S11 067700-2120 S IW22 067700-8670 RC VW22 267700-0790 RC

M14x19 W20ETR-L 067700-2160 S IW20 067700-8660 RC VW20 267700-0780 RC

20.6HEX W22ETR-L 067700-2150 S IW22 067700-8670 RC VW22 267700-0790 RC

2ELECTRODE W22ETR-L8 067700-7880 S IW22 067700-8670 RC VW22 267700-0790 RC

M14x19 W16ETR-S 067700-8180 R IW16 067700-8650 RC VW16 267700-0770 RC

20.6HEX W16ET-S 067600-6632 S W16ETR-S 067700-2171 S IW16 067700-8650 RC VW16 267700-0770 RC

2ELECTRODE,SHROUD,Semi-Surface W20ET-S 067600-6652 S IW20 067700-8660 RC VW20 267700-0780 RC

M14x21 W16DTR-S 067700-7440 S

20.6HEX,SHROUD W20DTR-S 067700-7320 S

2ELECTRODE,SHROUD,Semi-Surface W20DTR-SA 067700-2050 S

M14x19 W16EPB 10 067600-7850 R IW16 067700-8650 RC VW16 267700-0770 RC

20.6HEX W20EPB 067600-2740 R IW20 067700-8660 RC VW20 267700-0780 RC

3ELECTRODE W22EPB 067600-2750 R IW22 067700-8670 RC VW22 267700-0790 RC

3ELECTRODE,SEMI=SURFACE(-S) W20EPBR-S 067700-8040 R IW20 067700-8660 RC VW20 267700-0780 RC

STANDARD,RESISTOR PLUG CHART

S: SOLID; R: REMOVABLE; RC: CRIMPED; T: THREAD



375

AUSTRALIA
CH
IN
A
IN
D
IA

INDONESIA
K
O
R
EA

M
ALAYSIA

PHILIPPINES
SAUDIARABIA

SINGAPORE
TA
IW
A
N
THAILAND

VIETNAM
JA
PA
N
EU
RO
PE

&
 U
SA

M
O
TO
R

CY
CLE

SM
A
LL

EN
G
IN
E

CROSS
REFERENCE

PART
NUM

BER
DIA.xREACH

Hex
STANDARD PLUG RESISTOR PLUG (φ0.4mm) / (φ0.4mm) (φ0.4mm)

PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT
M14x19 J14CR-U 067700-6980 S IW16 067700-8650 RC VW16 267700-0770 RC

20.6HEX J16A-U11 067600-7931 S J16AR-U11 067700-3531 S

EXTENDED J16AY 067600-8820 S J16AYR 067700-7310 S

J16B-U11 067600-7971 S J16BR-U 067700-3472 S

J16BR-U11 067700-3571 S

J16CR-U 067700-6990 S IW16 067700-8650 RC VW16 267700-0770 RC

J16CR-U 067700-8190 R IW16 067700-8650 RC VW16 267700-0770 RC

M14x19.5x20.6HEX W20EAR 067700-0642 S

2ELECTRODE,ROTARY

M14x19.5x20.6HEX W22EBR 067700-0750 S

3ELECTRODE,ROTARY W27EBR 067700-0770 S IRE01-27 267700-1520 RC

W29EBR 067700-0780 S IRE01-31 267700-1530 RC

M14x19.5 W25EDR14 067700-2890 S IRE01-27 267700-1520 RC

20.6HEX W27EDR14 067700-2900 S IRE01-27 267700-1520 RC

4ELECTRODE,ROTARY W27EDR14 067700-0690 R IRE01-27 267700-1520 RC

M14x19 IRT01-31 267700-4840 S

20.6HEX,ROTARY IRT01-34 267700-4850 S

RX8,TRAILING

M14x21 IRL01-27 267700-4820 S

20.6HEX,ROTARY IRL01-31 267700-4830 S

RX8,LEADING

M14x21.5 S29 067700-2830 S IRE01-27 267700-1520 RC

20.6HEX S29A 067700-4820 S IRE01-27 267700-1520 RC

ROTARY, SURFACE S31A 067700-4830 S IRE01-31 267700-1530 RC

IRE01-32 267700-1540 RC

IRE01-34 267700-1550 RC

IRE01-35 267700-1560 RC

M14x12.7 SF-24 067800-0280 R

20.6HEX SF-50 067800-0031 R

SURFACE SF-51 067800-0041 R

M14x11.2 W14L 067600-3341 R

20.6HEX W16LS 067600-3351 R

M14x9.5 W9P-U 067600-7712 R W9PR-U 067700-2912 R

20.6HEX W14PR-U 067700-2931 R

1.5mm PROJECTION W16PR-U 067700-2921 R

W20P-U 067600-7751 R W20PR-U 067700-2951 R

M14x9.5 W9-U 067600-6900 R

20.6HEX W14-U 067600-6781 R

NON-PROJECTION W16S-U 067600-6791 R

W20S-U 067600-6801 R W20SR-U 067700-3041 R

W22S-U 067600-6891 R

W24S-U 067600-6881 R

W27S-U 067600-5781 R

W31S-U 067600-5791 R

M14x9.5 W9LM-US 067600-8790 R W9LMR-US 067700-7850 R

20.6HEX, COMPACT W14LM-U 067600-6711 R

W14LM-US 067600-8600 R

M14x9.5 W14M-U 067600-7421 R W14MR-U 067700-3201 R

19HEX, COMPACT W20M-U 067600-7441 R W20MR-U 067700-3221 R

W20M-US 067600-8590 R

W22M-U 067600-7451 R

W14MP-U10 067600-7461 R W14MPR-U10 067700-3281 R

W20MP-U10 067600-7581 R W20MPR-U10 067700-3301 R

W20MP-U 067600-7481 R

W22MP-U 067600-7491 R W22MPR-U 067700-3350 R

M14x11.2 T16R-U 067700-5650 S

16HEX,TAPER SEAT T16-U15 067600-0450 S T16R-U15 067700-5670 S

NON-PROJECTION T20R-U 067700-5950 S

M14x11.2 T14PR-U 067700-5700 S ITF16 267700-0660 RC

16HEX,TAPER SEAT T14PR-U15 067700-5720 S ITF16 267700-0660 RC

1.5mm PROJECTION T16P-U 067600-9700 S T16PR-U 067700-5750 S ITF16 267700-0660 RC

T16PR-U11 067700-5760 S ITF16 267700-0660 RC

T16PR-U15 067700-5770 S ITF16 267700-0660 RC

T20P-U 067600-9711 S T20PR-U 067700-5851 S ITF20 267700-0670 RC

T20PR-U11 067700-5861 S ITF20 267700-0670 RC

T20PR-U15 067700-5871 S ITF20 267700-0670 RC

M14x17.5 T16EPR-U 067700-3130 R IT16 267700-0610 RC VT16 267700-2810 RC

16HEX T20EP-U 067600-7380 R T20EPR-U 067700-3140 R IT20 267700-0620 RC VT20 267700-4480 RC

TAPER SEAT T22EP-U 067600-7390 R IT22 267700-0630 RC

T16EPR-U15 067700-3190 R IT16 267700-0610 RC VT16 267700-2810 RC

T20EP-U15 067600-7370 R T20EPR-U15 067700-3210 R IT20 267700-0620 RC VT20 267700-4480 RC

IT16 267700-0610 RC VT16 267700-2810 RC

M14x20.5 T16NR-U11 067700-6130 S IT16 267700-0610 RC VT16 267700-2810 RC

16HEX,HALF THREAD T20NR-U11 067700-6140 S IT20 267700-0620 RC VT20 267700-4480 RC

TAPER SEAT,SHROUD

M14x25 T16VR-U10 267700-4810 S ITV16 267700-3700 RC

16HEX ITV20 267700-3710 RC

TAPER SEAT ITV22 267700-2500 RC

ITV24 267700-2510 RC

ITV27 267700-2520 RC

M14x7.8 T20M-U 067600-8450 R

16HEX, COMPACT T22M-U 067600-8460 R

TAPER SEAT T20MP-U 067600-8470 R

T22MP-U 067600-8480 R

M18x12.7 L14-U 067600-7570 R

22.2HEX

M18x12 MW17 067600-0420 R

20.6HEX

STANDARD,RESISTOR PLUG CHART

S: SOLID; R: REMOVABLE; RC: CRIMPED; T: THREAD



376

PA
RT

NU
M
BE
R

CR
OS
S

RE
FE
RE
NC
E
SM
A
LL

EN
G
IN
E
M
O
TO
R

CY
CL
E
EU
RO
PE

&
 U
SA

JA
PA
N
VI
ET
NA
M
TH
AI
LA
ND
TA
IW
A
N
SIN
GA
PO
RE

SA
UD
IAR

AB
IA
PH
ILI
PP
IN
ES
M
AL
AY
SIA
K
O
R
EA

IN
DO
NE
SIA

IN
D
IA

CH
IN
A

AU
ST
RA
LIA

DIA.xREACH
Hex

STANDARD PLUG RESISTOR PLUG (φ0.4mm) / (φ0.4mm) (φ0.4mm)

PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT PLUG PART NUMBER NUT
M18x12 M14 067600-0310 R

25.4HEX M17 067600-0320 R

M22 067600-0330 R

M24S 067600-0340 R

M18x11.7 MA9P-U 067600-7511 R

20.6HEX MA16PR-U 067700-3630 R

TAPER SEAT MA16PR-U11 067700-3640 R

MA20P-U 067600-7550 R MA20PR-U 067700-3660 R

M12x26.5 XE20HR-U9 267700-5810 S VFXEH20 267700-7640 S

14HEX

M12x19 XU20EPR-U 067700-5800 S VXU20 267700-9140 S

16HEX ･XU22EPR-U 067700-8870 S IXU22 067700-8720 RC VXU22 267700-0800 RC

XU22EP-U 067800-4180 S XU22EPR-U 067700-5240 S IXU22 067700-8720 RC VXU22 267700-0800 RC

XU22PR9 267700-5490 S IXU22 067700-8720 RC VXU22 267700-0800 RC

XU24EP-U 067800-4260 S XU24EPR-U 067700-5250 S IXU24 067700-8730 RC VXU24 267700-0810 RC IXU01-24 267700-1060 R

XU24EPR-U 067700-8150 R IXU24 067700-8730 RC VXU24 267700-0810 RC IXU01-24 267700-1060 R

XU27EPR-U 067700-8090 R IXU27 067700-8600 RC IXU01-27 267700-1070 R

M12x26.5 XU20HR9 267700-8140 S IXUH20I 267700-8170 S VXUH20I 267700-8160 S

16HEX XU22HDR9 267700-4520 S IXUH22 267700-6450 RC VXUH22 267700-6460 RC

XU22HR9 267700-5180 S IXUH22I 267700-7370 RC VXUH22I 267700-7380 RC

M12x19 X20ES-U 067800-4110 T X20ESR-U 067700-5060 T

18HEX X22ES-U 067800-4120 T X22ESR-U 067700-5070 T IX22 067700-9350 R

X22ESR-UB 267700-6430 S IX22 067700-9350 R

X24ES-U 067800-4130 T X24ESR-U 067700-5080 T IX24 067700-9360 R IXU01-24 267700-1060 R

X27ES-U 067800-4140 T X27ESR-U 067700-5090 T IX27 067700-9370 R IXU01-27 267700-1070 R

X31ES-U 067800-4160 T X31ESR-U 067700-5110 T IXU01-31 267700-1080 R

IXU01-34 267700-1090 R

M12x19 X16EPR-U9 067700-5270 T

18HEX X20EPR-U9 067700-5280 T

1.5mmPROJECTION X22EP-U9 067800-4350 T X22EPR-U9 067700-5290 T IX22B 067700-9380 R

X24EP-U9 067800-4360 T X24EPR-U9 067700-5300 T IX24B 067700-9390 R IXU01-24 267700-1060 R

X27EP-U9 067800-4370 T X27EPR-U9 067700-5310 T IX27B 067700-9400 R IXU01-27 267700-1070 R

M12x19x18HEX X27ETR 067700-5030 T IX27 067700-9370 R IXU01-27 267700-1070 R

2ELECTRODE X31ETR 067700-5140 T IXU01-31 267700-1080 R

M12x22x18HEX X24GP-U 067800-4550 T X24GPR-U 067700-5540 T IXG24 267700-2920 R IXU01-24 267700-1060 R

3mmSHROUD X27GPR-U 067700-5550 T IXG27 267700-2930 R IXU01-27 267700-1070 R

M12x12.7 X16FSR-U 067700-5010 T

18HEX X20FS-U 067800-4020 T X20FSR-U 067700-5020 T

X24FS-U 067800-4040 T

M10x12.7 U16FS-U 067800-4590 T U16FSR-U 067700-5580 T

16HEX U20FS-U 067800-4600 T U20FSR-U 067700-5590 T IUF22 067700-9480 R

U22FS-U 067800-4610 T U22FSR-U 067700-5600 T IUF22 067700-9480 R

U24FS-U 067800-4620 T U24FSR-U 067700-5610 T IUF24 067700-9490 R

IUF27A 067700-9700 R

IUF31A 067700-9710 R

U14FS-UB 067800-6400 S U14FSR-UB 067700-8290 S IUF14-UB 267700-0540 S

U16FS-UB 067800-4690 S U16FSR-UB 067700-5990 S

M10x19 U20ESR-N 067700-8850 T IU20 267700-5020 R

16HEX U22ES-N 067800-4850 T U22ESR-N 067700-5320 T IU22 067700-9261 R

0.6mmPROJECTION U24ES-N 067800-4860 T U24ESR-N 067700-5380 T IU24 067700-9271 R IU01-24 267700-1010 R

U27ES-N 067800-4870 T U27ESR-N 067700-5390 T IU27 067700-9281 R IU01-27 267700-1020 R

RU01-27 267700-1570 R

U31ESR-N 067700-5640 T IU31 067700-9291 R IU01-31 267700-1030 R

RU01-31 267700-1580 R

U22ESR-NB 267700-2730 S IU22 067700-9261 R

U24ESR-NB 267700-2300 S IU24 067700-9271 R IU01-24 267700-1010 R

U27ESR-NB 267700-2280 S IU27 067700-9281 R IU01-27 267700-1020 R

RU01-27 267700-1570 R

M10x19 U20EPR9 267700-4580 T IU20 267700-5020 R

16HEX IU22D 267700-0830

1.5mmPROJECTION U22EPR9 267700-6480 T IU22D 267700-0830 R

T IU22 067700-9261 R

U24EPR9 267700-6490 T IU24D 267700-0840 R IU01-24 267700-1010 R

T IU24 067700-9271

M10x19 U22ETR 067700-5560 T

16HEX U24ETR 067700-5450 T IU24A 067700-9301 R IU01-24 267700-1010 R

2ELECTRODE U27ETR 067700-5460 T IU27A 067700-9311 R IU01-27 267700-1020 R

RU01-27 267700-1570 R

U31ETR 067700-5630 T IU31A 067700-9320 R IU01-31 267700-1030 R

RU01-31 267700-1580 R

M10x19 N24EXRB 267700-2290 S IU24 067700-9271 R IU01-24 267700-1010 R

16HEX,φ10.5

M10x19 HALF THREAD U16FER9 267700-0520 T

16HEX U22FER9 067700-5810 T

For Honda U24FE9 067800-4820 T U24FER9 067700-5820 T IUH24 067700-9330 R IU01-24 267700-1010 R

U24FER9S 267700-4790 T IUH24 067700-9330 R IU01-24 267700-1010 R

U27FER9 067700-5830 T IUH27 067700-9340 R IU01-27 267700-1020 R

RU01-27 267700-1570 R

M8x19 HALF THREAD Y24FER-C 067700-7550 T IY24 267700-4490 R

13HEX Y27FER-C 067700-7560 T IY27 267700-4500 R

Y31FER-C 067700-7570 T IY31 267700-4510 R

STANDARD,RESISTOR PLUG CHART

S: SOLID; R: REMOVABLE; RC: CRIMPED; T: THREAD


